
 
 
 
 
 

                                                       

 

 

 

 

 

 

 

Product Code Product Name  Quantity Unit Price Total 

     
AT31 3000mm 140mm Horizontal Pole 1.00  206.49  206.49 

F049 M12 X 250mm HT Hex Head Bolt 2.00    5.42   10.84 

F115 M12 Washer 24mm O/D 4.00    0.10    0.40 

F112 M12 Washer 32mm O/D 4.00    0.23    0.92 

F137 M10 Nylock Nut BZP 2.00    0.19    0.38 

F600A Plastic Counterbore Housing Washer 4.00    0.59    2.36 

F600B Plastic Counterbore Plug 4.00    0.27    1.08 

DEL004 Spares Delivery & Installation 1.00  295.00  295.00 

    

 Total GBP  517.47 

 
All the above prices are subject to VAT and are valid for a period of one month 

Please refer to our standard Terms and Conditions and Additional Information 
Finance Packages are available 

 

  

Quotation 

Quotation Number 0000060651 

Quotation Date 24/09/2019  

Scheme Number  

Project For Spare parts 

Theresa Goss 
Adderbury Parish Council 
3 Tanners Close 
Middleton Cheney 
Banbury 
Oxfordshire 
OX17 2GD  

https://www.playdale.co.uk/payment-terms-conditions/
https://www.playdale.co.uk/additional-information/

